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HEH = (ke/ ) BENE (kg/HF)
#B3E HHE
R (BERRE| ko~ |k~ [ BECCL gug |kt~ mmn| sps | BDE
a—Fk DHEH | DHEH AR B T &5 DBRB=E| K &&t = A
1 |deiEE 1.7E+1 17.3 17.3
2 |EHE
3 |BEFE 6.9E+1 69.0 69.0
4 |EHE 4.0E-1 0.4 3.3E+0 3.3 3.7
5 (AR
6 IR
7 [EER
8 |ZWE 1.6E+4 15,500.1 3.6E+3| 5.3E+3 8,927.0 24,4271
9 |HAE 1.0E-1 0.1 3.4E+0 34 35
10 |HER 6.0E-1 0.6 0.6
REEET! 2.0E-1 0.2 3.0E+3 3,003.5 3,003.7
12 |TER 7.0E+3 6,994.5 1.5E+4 15,028.6 22,023.1
13 |REHR 1.8E+0 1.8 1.8E+3 1,800.0 1,801.8
14 |[#E)E 1.3E+1 13.0 13.0
15 |#iRE 6.0E+2 600.0 600.0
16 |EWE 4.3E+0 43 20E-1| 6.2E+3 6,160.2 6,164.5
17 |RINE 9.0E-1 0.9 4.3E+3 4,300.2 4,301.1
18 |f&@HE 7.9E+1| 1.3E+1 91.9 48E+0| 1.4E+3 1,404.8 1,496.7
19 [ILEE
20 |RHE
21 |IKEBR 8.5E+0 8.5 1.9E+4 19,000.0 19,008.5
22 |EEEIR 1.3E+2 132.6 3.4E+3 3,400.0 3,532.6
23 |BHE 3.0E-1 0.3 4.0E+1 40.0 403
24 |ZER 3.8E+3 3,800.0 7.2E+3 7,190.0 10,990.0
25 |HER 1.8E+2 182.2 4.9E+3 4,900.0 5,082.2
26 |REAT 5.6E+0 5.6 1.5E+0| 1.3E+2 129.5 135.1
27 | KRFF 7.2E+2 722.3 49E+0| 6.6E+3 6,639.0 7,361.3
28 |EER 52E+3| 2.2E+2 5,440.1 2.4E+5 240,540.0 245,980.1
29 |ZRER 4.0E+0 40 40
30 |FNFLE 1.5E+2 1525 15E+2 5.2E+2 670.2 822.7
31 |BHRE
32 |BRE
33 |EWLE 1.3E+3 1,252.0 1,252.0
34 |LER
35 |ILOg 1.4E+3 1,406.8 1.8E+5 183,000.0 184,406.8
36 |fESR 2.4E+0 2.4 1.9E+4 18,900.0 18,902.4
37 |BNE 9.6E+0 9.6 1.9E+3 1,900.0 1,909.6
38 |BER 1.5E+3[ 1.6E+2 1,640.0 1,640.0
39 |EER
40 |fERR 7.8E+3 7,800.0 3.0E+2 300.0 8,100.0
41 [EER
2 |RIBER
43 |RERR
44 | KH R 1.1E+3 1,100.0 1,100.0
45 |FIFER
46 |EEER
47 |[HiER
£ H 45E+4| 4.0E+2 45.853.0 3.8E+3| 5.2E+5 528,339.7 574,192.7
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